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QUESTION 1

Which statement describes Avaya IXTM Workplace Management server redundancy? 

A. Two servers may be deployed which operate in a loadsharing mode. 

B. For Geographic Redundancy, three servers can be deployed: Two local (Master/Standby) and one remote (Backup). 

C. It is only possible to provide local redundancy, consisting of two servers (Master/Standby) located on the same LAN
segment. 

D. There is no redundancy option provided since video conferencing continues while Avaya IXTM Workplace
Management is unavailable. 

Correct Answer: B 

 

QUESTION 2

If a Secure LDAP connection is required between Avaya Aura Device Services (AADS) and LDAP, which additional
certificate is required? 

A. The CA Trust certificate in .PEM format 

B. The CA Trust certificate in .XML format 

C. The Identity certificate in .XML format 

D. The Identity certificate in .PEM format 

Correct Answer: A 

 

 

QUESTION 3

The working mode of an Avaya Equinox Media Server can be changed. What are two valid working modes? (Choose
two.) 

A. Multi-Stream Audio + Web Collaboration 

B. High Capacity Audio, Multi-Stream Video and Web Collaboration 

C. High Quality Audio and Multi-Stream Video 

D. Full Video + Web Collaboration 

Correct Answer: BD 
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QUESTION 4

Which statement about a licensing model for Avaya Equinox Conferencing Over the Top (OTT) and Avaya Equinox
Conferencing Team Engagement (TE) is true? 

A. OTT and TE both use a user-based licensing model. 

B. OTT uses a port-based licensing model, and TE uses a user-based licensing model. 

C. OTT uses a user-based licensing model, and TE uses a user-port licensing model. 

D. OTT and TE both use a port-based licensing model. 

Correct Answer: B 

 

 

QUESTION 5

When using the Avaya IXTM Workplace Client, which feature makes it possible to have up to ten SIP devices registered
concurrently? 

A. EC500 

B. Split-Horizon 

C. Multiple Device Access (MDA) 

D. Coverage Answer Group 

Correct Answer: C 
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